## A Note on a Three-Dimensional Bäcklund Transformation

Xuncheng Huang<sup>1\*</sup> and Edward H. C. Chang<sup>2</sup>

<sup>1</sup>Yangzhou Polytechnic University12-903 Hao Yue Yuan, Moon ParkYangzhou, Jiangsu 225012 China <sup>2</sup>National Taipei College of Business321 Section 1, Chi-Nan Road, Taipei, Taiwan, R.O.C.

**Abstract:** The Bäcklund transformation (BT) for a three-dimensional nonlinear wave equation and its nonlinear superposition formula are studied in this note. We prove that the three dimensional Bäcklund transformation obtained by Leibbrandt, *et al.* can be decomposed into three two-dimensional BTs. Some results on the N-dimensional Liouville equation are also discussed in the article.

Keywords: Bäcklund transformation; Liouville equation; superposition formula

#### 1. Introduction

For the past decades the study of nonlinear wave equations has attracted a lot of attentions from scientists and mathematicians. Some powerful tools such as the singular perturbation, the inverse scattering transform, the Bäcklund transformation (BT), *etc.*, are developed in solving these equations. It is interesting to note that the Bäcklund transformation was first introduced in pseudo-spherical surface but now is very useful in nonlinear equations.

Liouville equation in three dimensions takes the form:

$$\nabla^2 \alpha = \exp \alpha, \quad \nabla^2 = \partial_x^2 + \partial_y^2 + \partial_z^2,$$
 (1)

with the following conditions:

$$\alpha \to -\infty, \ \frac{d\alpha}{dr} \to 0, \ r \equiv (x^2 + y^2 + z^2)^{\frac{1}{2}} \to +\infty$$
 (2)

In two-dimensional space, this equation is

\* Corresponding author; e-mail: <u>xh311@yahoo.com</u>

#### reduced to

$$(\partial_x^2 + \partial_y^2)\chi = k \exp(a\chi)$$
(3)

with some boundary condition on  $\chi$ , where  $\chi$  is a scalar field, and *a*, *k* are real constants.

Equation (3) was first obtained by Liouville, and was studied later by many well-known mathematicians that include Picard, Poincare and Bierberbach, *etc.* The equation has significant applications in electro-statistics, hydrodynamics, cosmology, isothermal gas spheres and monopole theory.

A Bäcklund transformation for equation (1) and its nonlinear superposition formula was proposed by Leibbrandt, *et al.* [3,4]. In this note, we prove that the three-dimensional Bäcklund transformation of [3,4] can be decomposed into three two-dimensional BTs. We also discuss some results for the N-dimensional Liouville equation. Since the theory of Bäcklund transformations is still very active [6,8], thus this discussion has, ob-

Accepted for Publication: September 19, 2006

© 2006 Chaoyang University of Technology, ISSN 1727-2394

viously, some interests.

#### 2. Decomposition of Bäcklund transformation for the Liouville equation

The Bäcklund transformation derived by Leibbrant et al. for the Liouville equation in three spatial dimensions is

$$K(i\beta - \alpha) = \sqrt{2} \exp\left(\frac{a + i\beta}{2}\right) \exp i\theta \wp \qquad (4)$$

$$K \equiv I\partial_x + i(\sigma_1\partial_y + \sigma_3\partial_z)$$
 (5)

$$\wp \equiv \sigma_1 \exp(-i\lambda \sigma_2) \tag{6}$$

where,

$$\sigma_1 = \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix}, \ \sigma_2 = \begin{pmatrix} 0 & -i \\ i & 0 \end{pmatrix}, \ \sigma_3 = \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix}$$

are Pauli matrices and *I* the 2×2 identity matrix,  $\theta$ ,  $\lambda$  ( $0 \le \theta \le 2\pi$ ,  $0 \le \lambda \le 2\pi$ ) are the parameters of the BT,  $\alpha$  and  $\beta$  are real functions satisfying Equation (1) and the Laplace Equation:

$$\nabla^2 \beta = 0, \quad \nabla^2 = \partial_x^2 + \partial_y^2 + \partial_z^2 \tag{7}$$

respectively.

Note that

$$\exp(i\lambda\sigma_2) = I\cos\lambda + i\sigma_1\sigma_2\sin\lambda \tag{8}$$

$$\exp\left\{\theta\begin{pmatrix}i\sin\lambda & i\cos\lambda\\i\cos\lambda & -\sin\lambda\end{pmatrix}\right\} = I\cos\theta + \sin\theta\begin{pmatrix}i\sin\lambda & i\cos\lambda\\i\cos\lambda & -i\sin\lambda\end{pmatrix}$$
(9)

We can prove that the Bäcklund transformation of (1) takes the following form:

$$K(i\beta - \alpha) = (A + iB)\sqrt{2} \exp\left(\frac{\alpha + i\beta}{2}\right) \quad (10)$$

where

$$A = I\cos\theta \tag{11}$$

$$B = \begin{pmatrix} \sin\theta\sin\lambda & \sin\theta\cos\lambda\\ \sin\theta\cos\lambda & -\sin\theta\sin\lambda \end{pmatrix}$$
(12)

This matrix equation implies the four Equations:

$$(\partial_{x} + i\partial_{z})(i\beta - \alpha) = (\cos\theta + i\sin\theta\sin\lambda)\sqrt{2}\exp\left(\frac{\alpha + i\beta}{2}\right)$$
(13a)
$$(\partial_{x} - i\partial_{z})(i\beta - \alpha) = (\cos\theta - i\sin\theta\sin\lambda)\sqrt{2}\exp\left(\frac{\alpha + i\beta}{2}\right)$$
(13b)
$$i\partial_{y}(i\beta - \alpha) = i\sin\theta\cos\lambda\sqrt{2}\exp\left(\frac{\alpha + i\beta}{2}\right)$$
(13c)

$$i\partial_{y}(i\beta - \alpha) = i\sin\theta\cos\lambda\sqrt{2}\exp\left(\frac{\alpha + i\beta}{2}\right)$$

or, their equivalent forms:

$$\partial_x(i\beta - \alpha) = \sqrt{2}\cos\theta\exp\left(\frac{\alpha + i\beta}{2}\right)$$
 (14a)

$$\partial_{y}(i\beta - \alpha) = \sqrt{2}\sin\theta\cos\lambda\exp\left(\frac{\alpha + i\beta}{2}\right)(14\text{b})$$
$$\partial_{z}(i\beta - \alpha) = \sqrt{2}\sin\theta\sin\lambda\exp\left(\frac{\alpha + i\beta}{2}\right)(14\text{c})$$

If we compare the real and imaginary parts of the equations in (14), and use the integral conditions, we can show that equations (14a,b) are Bäcklund transformation for the two- dimensional Liouville equation in the light-cone coordinate system:

$$\alpha_{xy} = \sin\theta\cos\theta\cos\lambda\exp\alpha \tag{15}$$

and the wave equation  $\beta_{xy} = 0$ . Similarly, equations (14a,c) are BT for

$$\alpha_{xz} = \sin\theta\cos\theta\sin\lambda\exp\alpha \tag{16}$$

and the wave equation  $\beta_{xz} = 0$ ; and equations (14b,c) are BT for

$$\alpha_{yz} = \sin^2 \theta \sin \lambda \cos \lambda \exp \alpha \tag{17}$$

and  $\beta_{yz} = 0$ 

We would like to point out that:

1). The equations (15), (16), and (17) can be written, with some coordinate transformations, as the standard form as in (3).

2). From (14) we have

$$\alpha_{xx} = \cos^2 \theta \exp \alpha \tag{18a}$$

$$\alpha_{yy} = \sin^2 \theta \cos^2 \lambda \exp \alpha \tag{18b}$$

$$\alpha_{zz} = \sin^2 \theta \sin^2 \lambda \exp \alpha \tag{18c}$$

and thus

$$\alpha_{xx} + \alpha_{yy} + \alpha_{zz} = \exp\alpha \tag{19}$$

which is the original three-dimensional Liouville equation. Similarly, we have

$$\beta_{xx} + \beta_{yy} + \beta_{zz} = 0 \tag{20}$$

which is Laplace equation (7). Therefore, we can see that the three sets of BTs for two-dimensional Liouville equations also satisfy the conditions for the three-dimensional Liouville equation (1).

In Bäcklund transformation (14), since the parameters  $\theta$ ,  $\lambda$  ( $0 \le \theta \le 2\pi$ ,  $0 \le \lambda \le 2\pi$ ) are real, all the trigonometric functions in (14) are real. Therefore, we have shown that the Bäcklund transformation (14) for the three-dimensional Liouville equation (1) is able to be decomposed into three sets of BTs for two-dimensional Liouville equations. Similar results can be obtained for the Liouville equation in N spatial dimensions.

# 3. Some results of Liouville equations in N spatial dimensions

We write (14) into the following:

$$\partial_{x^{(1)}}(i\beta - \alpha) = a_1\sqrt{2}\exp\left(\frac{\alpha + i\beta}{2}\right)$$
 (21a)

$$\partial_{x^{(2)}}(i\beta - \alpha) = a_2\sqrt{2}\exp\left(\frac{\alpha + i\beta}{2}\right)$$
 (21b)

$$\partial_{x^{(3)}}(i\beta - \alpha) = a_3\sqrt{2}\exp\left(\frac{\alpha + i\beta}{2}\right)$$
 (21c)

where  $a_j = a_j(\theta, \lambda)$  (*j* = 1, 2, 3) are the parameters of the transformation, which satisfy

$$a_1^2 + a_2^2 + a_3^2 = 1 \tag{22}$$

It is easy to see that  $\alpha_j$ , j = 1, 2, 3 are real due to the ranges of  $\theta$ ,  $\lambda$ .

Consider the transformation in N-dimensional space

$$\partial_{x^{(j)}}(i\beta - \alpha) = a_j \sqrt{2} \exp\left(\frac{\alpha + i\beta}{2}\right) \quad (j = 1, 2, ..., N)$$
  
where  $\alpha_j, j = 1, 2, 3, ..., N$ , satisfy  $\sum_{j=1}^N a_j^2 = 1$ .  
Obviously,  $\alpha$  and  $\beta$  in (23) satisfy the

N-dimensional Liouville equation

$$\sum_{j=1}^{N} \partial_x^{2(j)} \alpha = \exp \alpha$$
 (24)

and the N-dimensional Laplace equation

$$\sum_{j=1}^{N} \partial_x^2(j) \ \beta = 0 \tag{25}$$

Let  $\varepsilon_1 = (a_1, a_2...a_N)$ , and extend it to a standard orthogonal basis of the N-dimensional space  $R^N$ : { $\varepsilon_1, \varepsilon_2...\varepsilon_N$ }. Consider the matrix A with the low vectors of  $\varepsilon_j$  (j = 1.2...N), and the coordinate transformation:

$$\left[y^{(1)}y^{(2)}...y^{(N)}\right]^{T} = A\left[x^{(1)}x^{(2)}...x^{(N)}\right]^{T}$$
(26)

We have

$$\partial_{y^{(1)}}(i\beta - \alpha) = \sqrt{2} \exp\left(\frac{\alpha + i\beta}{2}\right), \tag{27}$$

$$\partial_{y^{(j)}}(i\beta - \alpha) = 0, \quad (j = 2, 3, ..., N)$$
 (28)

This means that under the new coordinates,  $\alpha$  and  $\beta$  are only related to  $y^{(1)}$ , which satisfy the regular easily solvable two-dimensional

Int. J. Appl. Sci. Eng., 2006. 4, 2 217

Liouville and wave equations:

$$\alpha_{y^{(1)}y^{(1)}} = \exp \alpha, \tag{29}$$

$$\beta_{y^{(1)}y^{(1)}} = 0.$$
(30)

For the Liouville equation with time variable t, we have a similar result. For example, consider

$$(\nabla^2 - \partial_t^2)\alpha = \exp \alpha$$
, where  $\nabla^2 = \partial_x^2 + \partial_y^2 + \partial_z^2$ ,  
(31)

and its Bäcklund transformation

$$\overline{K}(i\beta - \alpha) = \sqrt{2} \exp\left(\frac{\alpha + i\beta}{2}\right) \exp i\theta_{\beta}$$
(32)

where

$$\overline{K} \equiv I\partial_x + i(\sigma_1\partial_y + \sigma_3\partial_z) + \sigma_2\partial_t, \qquad (33)$$

(34) $\overline{\wp} \equiv \sigma_1 \exp[(-i\lambda\sigma_2)\exp(-\tau\sigma_1)], \ (-\infty < \tau < +\infty)$ and  $\beta$  satisfies the equations

 $(\nabla^2 - \partial_t^2)\beta = 0$ , where  $\nabla^2 = \partial_x^2 + \partial_y^2 + \partial_z^2$ (35)

It can be proved that the Bäcklund transformation (32) with time variable t has a similar structure with the one of (4) without time t.

### 4. Nonlinear superposition formula of solutions

In references [3,4], the following nonlinear superposition formula of solutions for Liouville equation of higher dimensions have been used:

$$\tan\left(\frac{\beta_2 - \beta_0}{4}\right) = R_{12} \tanh\left(\frac{\alpha_1^{(1)} - \alpha_1^{(2)}}{4}\right), \quad (36)$$

$$R_{12} = \pm \left[ (1 + \aleph_{12}) / (1 - \aleph_{12}) \right]^{\frac{1}{2}}, \quad |\aleph_{12} < 1|, \quad (37)$$
$$\aleph_{12} \equiv \cos \theta_1 \cos \theta_2 + \sin \theta_1 \sin \theta_2 \cos(\lambda_1 - \lambda_2),$$

where  $\alpha_1^{(1)}$ ,  $\alpha_1^{(2)}$ ,  $\beta_0$  and  $\beta_2$  are the real solutions of equations (1) and (7), respectively. These solutions are connecting by the Bäcklund transformation (4). Assume that the BT (4) is permutable, we have

 $i\beta_0^{\underline{\theta}_1,\underline{\lambda}_1} \to \alpha_1^{(1)\underline{\theta}_2,\underline{\lambda}_2} \to i\beta_2, \quad i\beta_0^{\underline{\theta}_2,\underline{\lambda}_2} \to \alpha_1^{(2)\underline{\theta}_1,\underline{\lambda}_1} \to i\beta_2$  (38) We will show that the above superposition formula is trivial. According to (21), we can change (38) into

$$i\beta_0 \frac{a_j}{\longrightarrow} \rightarrow \alpha_1^{(1)} \frac{a_j}{\longrightarrow} \rightarrow i\beta_2, \quad i\beta_0 \frac{a_j}{\longrightarrow} \rightarrow \alpha_1^{(2)} \frac{a_j}{\longrightarrow} \rightarrow i\beta_2$$
(39)

where  $\alpha_j$ ,  $\alpha'_j$  (j = 1,2,3) depend on  $\theta_{i}, \lambda_{i}$ , It follows that  $\alpha_{j}, \alpha_{j}$  are real due to the range of  $\theta_i$  and  $\lambda_j$  . We have

$$\partial x^{(j)}(i\beta_0 - \alpha_1^{(1)}) = a_j \sqrt{2} \exp\left(\frac{\alpha_1^{(1)} + i\beta_0}{2}\right)$$
 (40a)

$$\partial x^{(j)}(i\beta_0 - \alpha_1^{(2)}) = a_j \sqrt{2} \exp\left(\frac{\alpha_1^{(2)} + i\beta_0}{2}\right)$$
 (40b)

$$\partial x^{(j)}(\alpha_1^{(1)} - i\beta_2) = a_j \sqrt{2} \exp\left(\frac{i\beta_2 + \alpha_1^{(1)}}{2}\right)$$
(40c)

$$\partial x^{(j)}(\alpha_1^{(2)} - i\beta_2) = a_j \sqrt{2} \exp\left(\frac{i\beta_2 + \alpha_1^{(2)}}{2}\right), \quad (j = 1, 2, 3) \quad (40d)$$

From (40a,c) and (40b,d), we obtain

$$\frac{\partial x^{(j)}(i\beta_0 - i\beta_2)}{a_j \sqrt{2} \exp\left(\frac{\alpha_1^{(1)} + i\beta_0}{2}\right) + a_j \sqrt{2} \exp\left(\frac{i\beta_2 + \alpha_1^{(1)}}{2}\right)$$
(41)

and

$$\partial x^{(j)}(i\beta_0 - i\beta_2) = a_j \sqrt{2} \exp\left(\frac{\alpha_2^{(2)} + i\beta_0}{2}\right) + a_j \sqrt{2} \exp\left(\frac{i\beta_2 + \alpha_1^{(2)}}{2}\right)$$
(42)  
Also,

AISO,

$$a_{j} \sinh\left(\frac{\alpha_{1}^{(1)} - \alpha_{1}^{(2)} + i\beta_{0} - i\beta_{2}}{4}\right) \left[\cosh\left(\frac{\alpha_{1}^{(1)} + \alpha_{1}^{(2)} + i\beta_{0} + i\beta_{2}}{4}\right)\right] \\ + \sinh\left(\frac{\alpha_{1}^{(1)} + \alpha_{1}^{(2)} + i\beta_{0} + i\beta_{2}}{4}\right) \left] \\ = a_{j}^{'} \sinh\left(\frac{\alpha_{1}^{(2)} - \alpha_{1}^{(1)} + i\beta_{0} - i\beta_{2}}{4}\right) \left[\cosh\left(\frac{\alpha_{1}^{(1)} + \alpha_{1}^{(2)} + i\beta_{0} + i\beta_{2}}{4}\right) \\ + \sinh\left(\frac{\alpha_{1}^{(1)} + \alpha_{1}^{(2)} + i\beta_{0} + i\beta_{2}}{4}\right) \right]$$

$$(43)$$

or equivalently,

$$a_{j} \sinh\left(\frac{\alpha_{1}^{(1)} - \alpha_{1}^{(2)} + i\beta_{0} - i\beta_{2}}{4}\right) \exp\left(\frac{\alpha_{1}^{(1)} + \alpha_{1}^{(2)} + i\beta_{0} + i\beta_{2}}{4}\right)$$
$$= a_{j}^{'} \sinh\left(\frac{\alpha_{1}^{(1)} - \alpha_{1}^{(2)} + i\beta_{0} - i\beta_{2}}{4}\right) \exp\left(\frac{\alpha_{1}^{(1)} + \alpha_{1}^{(2)} + i\beta_{0} + i\beta_{2}}{4}\right).$$
(44)

Eliminating the nonzero factor  $\exp\left(\frac{\alpha_1^{(1)} + \alpha_1^{(2)} + i\beta_0 + i\beta_2}{4}\right), \text{ and expanding}$ 

the hyperbolic sine functions yields that

$$(a_{j} + a_{j}') \sinh\left(\frac{\alpha_{1}^{(2)} - \alpha_{1}^{(1)}}{4}\right) \cosh\left(\frac{i\beta_{0} - i\beta_{2}}{4}\right)$$
(45)  
=  $(a_{j} - a_{j}') \cosh\left(\frac{\alpha_{1}^{(2)} - \alpha_{1}^{(1)}}{4}\right) \sinh\left(\frac{i\beta_{0} - i\beta_{2}}{4}\right);$ 

that is,

$$\frac{a_j + a_j'}{a_j - a_j'} \tanh\left(\frac{\alpha_1^{(2)} - \alpha_1^{(1)}}{4}\right) = \tanh\left[i\left(\frac{\beta_0 - \beta_2}{4}\right)\right] \quad (46)$$

Since that  $tanh(i\chi) = i tan \chi$ , we have

$$\frac{a_j + a_j'}{a_j - a_j'} \tanh\left(\frac{\alpha_1^{(2)} - \alpha_1^{(1)}}{4}\right) = i \tanh\left(\frac{\beta_0 - \beta_2}{4}\right) \quad (47)$$

Now we check the formula (47) carefully. Since  $\alpha_1^{(1)}$ ,  $\alpha_1^{(2)}$ ,  $\beta_0$ ,  $\beta_2$  and  $a_j$ ,  $a_j'$  are all real, the right hand side of (47) is pure imaginary while the left hand side is real. Thus, both vanish, or  $\beta_2 = \beta_0$ . In other words, it is impossible to obtain a new solution from the solution  $i\beta_0$ ,  $\alpha_1^{(1)}$ ,  $\alpha_1^{(2)}$  by the formula (47). Therefore, the formulas (37) and (38) (the Backlund transformation in the references [3,4]) are trivial, by which no new solutions will be produced.

Topics relating to the Bäcklund transformation and nonlinear superposition formulas for nonlinear wave Equations are very active. And, in literature, there are some further discussion based on the formulas (37) and (38) (see [5-8,11,12], for instance). Therefore, the discussion in this note is, of course, necessary.

#### References

- [1] Ockendon, J. R. (Ed.) 2003. "Applied Partial Differential Equations - Oxford Texts in Applied and Engineering Mathematics", Oxford University Press, Oxford.
- [2] Gesztesy, F., Holden H., Bollobas B., Fulton W., Katok A., Kirwan F., and Sarnak P. 2003. Soliton Equations and their Algebro-Geometric Solutions: Vol., (1+1)-Dimensional Continuous Models "Cambridge Studies in Advanced Mathematics", Cambridge University Press.
- [3] Leibbrandt, G., Wang S. S., and Zamani N. 1982. Bäcklund generated solutions of Liouville's Equation and their graphical representations in three spatial dimensions, *Journal of Mathematical Physics*, 23, 9: 1566-1572.
- [4] Leibbrandt, G. 1980. Nonlinear superposition for Liouville's equation in three spatial dimensions, *Letters in Mathematical Physics*, 4: 317-321.
- [5] Huang, X. C. 1983. Another method of deriving auto-Bäcklund transformations for nonlinear evolution equations, *Journal of Physics A-Mathematical and General*, 16: 891-892.
- [6] Huang, X. C. 1983. A one-parameter Bäcklund transformation for the Euclidean Liouville and wave equations, *Physica Scripta*, 27: 321-322.
- [7] Tu, M. H. 2001. On the Bäcklund transformation for the Moyal Korteweg-de Vries hierarchy, *Journal of Physics A-Mathematical and General*, 34: 623-629.
- [8] Bai, C. L. 2004. Bäcklund transformation and multiple soliton solutions for the (3+1)-dimensional Nizhnik– Novikov–Veselov equation, *Chinese Physics.*, 13: 1-4.
- [9] Hu, X. B. and Springael, J. 2002. A Bäcklund transformation and nonlinear superposition formula for the

Lotka-Volterra hierarchy, *ANZLAM Journal*. 44: 121-128.

- [10] Rourke, D. E. 2004. Elementary Bäcklund transformations for a discrete Ablowitz–Ladik eigenvalue problem, *Journal of Physics A-Mathematical and General*, 37,7: 2693-2708.
- [11] Tu, G. Z. and Huang, X. C. 2005. From Newton's law to generalized Hamiltonian system (I)——Some results on lin-

ear skew-symmetric operator, *Journal of Yangzhou Polytechnic University*, 9, 2:36-46.

[12] Huang, X. C. and Tu, G. Z. 2006. A new hierarchy of integrable system of 1+2-dimensions From Newton's law to generalized Hamiltonian system (II), *International Journal of Mathematics and Mathematical Sciences*. (to be published)